












The weights of 4 boxes are 70 ,50 , 30, and 90 kilogram. Which of the 

following can’t be the total weight in kilograms, of any combination of 

these boxes and ion a combination a box canbe used only once?

4 बके्स का वजन 70, 50, 30 और 90 ककलोग्राम है। कनम्न में से कौन सा ककलोग्राम में कुल

वजन नह ीं हो सकता है, इन बॉक्सोीं और आयनो ीं के सींयोजन में एक बॉक्स एक बार में

केवल एक बार किब्बा हो सकता है?

(A) 220

(B) 210 

(C) 240 

(D)  170 



Find the missing :-

ADMON : CBKQL
EGOPI : ?

(A) CEMNK
(B) GIQRK
(C) GEQNK
(D) FFQNG

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the Straight line  :-

(A) 16
(B) 13
(C) 18
(D) 15 
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Find the missing :-

568, ? , 136 , 64 , 28 , 10 , 1

(A) 280
(B) 240
(C) 225
(D) 174
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Find the missing :-

(A) 5
(B) 6
(C) 7
(D) 8
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5 7 6 36

10 ? 17 64

9 11 8 56



Find the missing :-

(A) 2
(B) 3
(C) 4
(D) 5
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18 24 32

12 14 16

3 ? 4

72 112 128



Find the missing :-

(A)16
(B)15   
(C) 18
(D)21
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14 12 ?

19 29 11

12 18 11

7 1 15



Find the SQUARE :-

(A)22
(B)20
(C) 18    
(D)14
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Find the triangle (?)

1. 12    
2. 7
3. 8      
4. 13
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Statements :

0% frocks are pants.

All shorts are frocks.

A few jackets are pants.

Conclusions :

I. Not a single pant is short.

II. A good number of jackets are 
not frocks.

EXAMPLE

कथन: 
0% फ्रॉक पैंट हैं।

सभ शॉटट्स फ्रॉक हैं।

कुछ जैकेट पैंट हैं।

कनष्कर््: 
एक भ पैंट शॉट् नह ीं है।

अच्छ सींख्या में जैकेट फ्रॉक नह ीं

हैं।



Statements :

0% frocks are pants.

All shorts are frocks.

A few jackets are pants.

Conclusions :

I. Not a single pant is short.

II. A good number of jackets are 
not frocks.

EXAMPLE



Statements :

All frocks are pants.

100% shorts are frocks.

Some jackets are pants.

Conclusions :

I. All pants are shorts.

II. All shorts being jackets is a 
possibility.

EXAMPLE

कथन:
सभ फ्रॉक पैंट हैं।

100% शॉटट्स फ्रॉक हैं।

कुछ जैकेट पैंट हैं।

कनष्कर््: 
सभ पैंट शॉटट्स हैं।

सभ शॉटट्स के जैकेट होने क 

सींभावना है।



Statements :

All frocks are pants.

100% shorts are frocks.

Some jackets are pants.

Conclusions :

I. All pants are shorts.

II. All shorts being jackets is a 
possibility.

EXAMPLE



Statements :

All frocks are trousers.

No pants are frocks.

Some jackets are pants.

Conclusions :

I. At least some jackets are 
frocks.

II. No jacket is a frock.

EXAMPLE

कथन: 
सभ फ्रॉक टर ाउजर हैं।

कोई पैंट फ्रॉक नह ीं है।

कुछ जैकेट पैंट हैं।

कनष्कर््: 
कम से कम कुछ जैकेट फ्रॉक हैं।

कोई जैकेट फ्रॉक नह ीं है।



Statements :

All frocks are trousers.

No pants are frocks.

Some jackets are pants.

Conclusions :

I. At least some jackets are 
frocks.

II. No jacket is a frock.

EXAMPLE



Statements :

All bottles are jugs.

All pans are jugs.

Some jugs are not mugs.

Conclusions :

I. Some bottles are not pans.

II. Some mugs may not be jugs.

EXAMPLE

कथन: 
सभ बोतलें जग हैं।

सभ पैन जग हैं।

कुछ जग मग नह ींहैं।

कनष्कर््: 
कुछ बोतल पैन नह ींहैं।

कुछ मग जग नह ींहो सकते हैं।



Statements :

All bottles are jugs.

All pans are jugs.

Some jugs are not mugs.

Conclusions :

I. Some bottles are not pans.

II. Some mugs may not be jugs.

EXAMPLE



Statements :

Some printers are scanners.

Some scanners are microphones.

Many microphones are speakers.

Conclusions :

I. Some printers are speakers.

II. Not a single printer is speaker.

EXAMPLE

कथन: 
कुछ करींटर सै्कनर हैं।

कुछ सै्कनर माइक्रोफोन हैं।

कई माइक्रोफोन स्प कर हैं।

कनष्कर््: 
कुछ करींटर स्प कर हैं।

एक भ करींटर स्प कर नह ीं है।



Statements :

Some printers are scanners.

Some scanners are microphones.

Many microphones are speakers.

Conclusions :

I. Some printers are speakers.

II. Not a single printer is speaker.

EXAMPLE



Statements :

All brushes are toilets.

No sink is a soap

No toilet is a sink.

Conclusions :

I. Some soaps are toilets.

II. No sink is a toilet.

EXAMPLE

कथन:
सभ ब्रश शौचालय हैं।

कोई कसींक साबुन नह ीं है

कोई शौचालय कसींक नह ीं है।

कनष्कर््:
कुछ साबुन शौचालय हैं।

कोई कसींक शौचालय नह ीं है।



Statements :

All brushes are toilets.

No sink is a soap

No toilet is a sink.

Conclusions :

I. Some soaps are toilets.

II. No sink is a toilet.

EXAMPLE


